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Problem quickname:

b

Calculate the result.

a)7-7=49 b)
e)b-5=25 f)

i)9-4=36

2)

Calculate the result.
a) 14-8 =112

e) 17-4 =68

i) 15-7 =105

3)

Calculate the result.

a) 1231 = 372
e) 12 - 47 = 564
i) 1122 = 242
4)

Calculate the result.

a) 46 - 34 = 1564
d) 1733 = 561
h) 27 - 46 = 1242

Good Luck!
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£)12-5 =60

8228

1-4=
7-4=28

b) 18 -7 = 126

i) 18 -6 = 108

b) 17 -46 = 782

£) 13- 25 = 325 o

i) 11-26 = 286

b) 41 - 20 = 820
e) 20 - 13 = 260
i) 3452 = 1768
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4 ¢)3-7=21
g)3-8=24

c) 17-6 =102
g) 10 -

8 = 80

c) 17-35 =595

) 1228 = 336

c) 3979 = 3081

£) 29 - 92 = 2668

i) 2421 = 504
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d)3-6=18
h)9-6 =54

d) 18 -3 =54
h) 10 -9 = 90

d) 17 - 47 = 799
h) 17 - 33 = 561

g) 27 - 37 = 999
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